2O REUSCHEL-BAU:

Henriette

——pr— T
LLLL WASCHEN WOHNEN
@ LN R AL = T
- ] ) Y
T
B = [
/ COIC NS
S I = =
(i - VORRAT -
,HI‘ZL‘UR‘ T L 7H;IA=3,95qm,, ttt L
LA = 12,05 gm * i_ o ARRANE NE
. I L LLLL = DIELE O
LLLLLET LLLLLLLL A=17,10gm &
I I 1] LLL B I L
L LLL I L
E[.. RRERRRES S g
GASTE | - L HAR L 0 CCC T tt I
A = 20,80 gm CICZE o W = |15 C T C KUCHE - LL&Z
=kl E A=1650qm - WE - i R e
ABST. . o
LIl A= 65 qm HECEEEEEEEEEE frA=6sqmIHEEL DUC
I I Y [ LLLLL|
Y A | | o
Kellergeschoss Erdgeschoss
| 10,49 ‘ 6,885 ‘
\ \ |
] e}
a =+ 0 <
N
; ANKLL L
“ KIND 1 ‘ oo || S HI AFEN
" A=19,6qm A=1925qgm
———————— ]
- |
. <
N il N
— FLUR O
A =9,25gm
~  KIND 2 EEEE&EEE%LLL%
" A=17,20 qm I G
: N NN ]
ffffffff 1 Hopos o T
ABST. CCLLLLL L LN <t
, coche - (OR ~
1 L 1
Dachgeschoss




	Seite1

